oo = == == ==[1[]

dooooooodddaooooooddaddooooooagaaoc
000

goo:

OO0 : 2019/5/27 13:22:14

O000000000010805017000000010800280 0000
Oo0oo0ooooooooooon
(OHooooolesor7ol1oOo(@oO)yoro1o(@ OO )Od
(OH)OoOooouooDoooooooo@oooooooooo19sd50d)0
(O)H)OoOoooooooilo8Os50240 (0O O)TO
(O)H)OOOOoOoOoooOoo24000
O000000dU0ooo0U0ooo00oooooooooooooooooooo@)yooon
O0o0oooooooooooo
goododoboooboodooooooooon

O http://www._tyc.edu.tw/home. jsp?id=6&parentpath=0,50 0 0 O
0000000DOO0OD0O0D0O000O000O0d(0983-941789)0

http://163.30.202.2 2024/5/20 5:35:44 - 1


http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

